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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes cach
sentence. Then mark the correct choice on your answer sheet.

Dogs and wolves are members of the same ———--——,

1) species 2) monsters 3) creatures 4) primates
I've been prescribed iron tables to make up the

1) fault 2) nutrition 3) deficiency 4} protection
After years of research, scholars have finally - this theory to a scholar in ancient
Greece,

1) pondered 2) ascribed 3) depicted 4) disclosed
They - a 500-year lifespan for a plastic container.

1) alleged 2) survived 3) diverged 4) postulated
Teachers settled for a 4% pay rise with effect from last April.

1) foregone 2) preceding 3) retrospective 4) substantial
Although she is only 20 years old, she has shown great —~—--—- to stress.

1) potency 2) maturity 3) attribute 4) resilience
The school governors have absolute —--—--- over which students they admit.

1) discretion 2) attendance 3) pragmatism 4) aggression
Short questions are more likely to a response.

1) elicit 2) undergo 3) perceive 4) register
Many principles are ---- in the Declaration of Human Rights.

1) resided 2) embodied 3) proceeded 4) submitted
Scientists used to reason that the Sun went round the Earth, not

1) in tumn 2) vice versa 3)onthe otherhand  4) by contrast

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) }
| best fits each blank, Then mark the correct choice on your answer sheet.

11-
12-
13-
14-
15-

China has been influenced mainly by three systems of religion and morals: Confucianism,
Taoism, and Buddhism. (11) - started in China but Buddhism (12) —---—-—- from India in the
1* or 2™ century AD. Confucianism was usually regarded as the official religion of China until the
revolution of 1911, The founder of Confucianism was Confucius, who was bom in the 6" century

BC and lived in (13) -----—-. He taught that human happiness comes from the relationships
between people; (14) , the way in which people treat one another. The worship of ancestors-
an old Chinese custom — was warmly recommended by him because (15) -----—-- the old ways

unchanged. God was to be honoured, but people could not know much about him and should not try
to find out about supernatural things.

1) Twao first 2) First two 3) The two first 4) The first two

1) carried there 2) was carried there 3) carried until there  4) was carried until there
1) trouble times 2) troubling time 3) troubled times 4) troublesome time

1) that is 2) in case 3) in addition 4) which includes

1) it helped keeping 2) his helping for keeing of

3) it helped to keep 4) he helped keeping '
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Direcn‘uns: Read the following three passages and answer questions 16-29 by choosing the best
choice (1), (2); (3); or (4). Then mark the correct choice on your answer sheel. |

Passage I:

Often spectacular oxidation of organic matter by atmospheric 6xygen occurs by
combustion. The burning of trees, grass and petroleum are examples of oxidation
through the combustion process. Many organic compounds can exist in the environ-
ment in the presence of the 20% of oxygen in the atmosphere without combustion
occurring. However, ignition by a spark or flame initiates the occurrence of com-
bustion. The burning or combustion of organic matter such as wood and petroleum,
is a major source of energy in human society. This has a major impact on the
occurrence of oxygen and carbon dioxide in the Earth's atmosphere. The energy
produced by combustion of many organic compounds can be estimated. The pro-
duction of this energy is critical to the use of organic compounds as fuels.

16- What is the major source of energy in our life?

1) Nuclear 2) Biomass 3) Inorganic matter 4) Organic matter
17- “Spectacular” means:
1} Gentle 2) Amazing 3) Partial 4) Spontaneous
18- Oxygen depletion is because of ——--.
1) trees activities 2} ignition by a flame
3) release of oxygen from organic matter « 4) combinations of organic matters with oxygen
19- Usually, the presence of oxygen will not affect organic compounds unless there is a/an -—------- :
1) great accident 2) increase in temperature
3) major source of energy 4) radical change in occurence
20- The text talks about:
1) Fuel from Oxidation 2) Energy for Human Society
3) Oxidation through Combustion 4) Combustion through Oxidation
Passage 11:

Leaching differs very little from the washing of filtered solids and leaching equipment strongly resembles
the washing sectionvef various filters. In leaching, the amount of soluble material removed is often rather
greater than in ordinary filtration washing, and the properties of the solids may change considerably during
the leaching operation. Coarse, hard, or granular feed solids may disintegrate into pulp or mush when their
content of soluble material is removed.

When the solids form an open, permeable mass throughout the leaching operation, solvent may be
percolated through antunagitated bed of solids. With impermeable solids or materials which disintegrate
during leaching, the solids are dispersed into the solvent and are later separated from it. Both methods may
be eithér batch or continues.

21- During filtration washing operation, the properties of the solvent may -----— -
1) remain the same 2) change 3) disintegrate 4) improve

22- Which one of the followingis the nearest in meaning to the underlined word disintegrate in the text?
1) dismantle 2) give away 3) take apart 4) break up
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23- From the text, it is understood that during leaching operation of permeable solids, the solvent may be
--—-——- an unagitated bed of solids.

1) passed through 2) poured out 3) secreted into 4) stirred in

24- Which one of the following is the nearest in meaning to the underlined word dispersed the text?
1} decayed 2) faded away 3) destroved 4) discarded

25- Which of the following titles is the most appropriate for the passage?
1) The Leaching Process 2) Filtration versus Leaching
3) Leaching Equipment Performance 4) Batch and Continuous Leaching Methods
Passage 111I: oday’s chemical process industry is gearing itself

toward safer technology for a better
environment. With increasing safety awareness

in the industry and society, it has become every process

engineer's responsibility to design a plant that provides

minimum damage to the environment. The emphasis

is often to minimize waste of materials

and energy due to plant leaks.

Apart from pollution due to leakage

of toxic materials, every drop leaked

adds to the production cost. These leaks

come from various sources—typically

pumps, valves and flange joints. This

can be reduced considerably, if not elim-

inated totally, by various steps. Valve

leakage can be reduced by: 1) proper

choice of valves with respect to material

of construction, size and design condi-

tions; 2) proper-installation; 3)periodic

and preventive maintenance. In spite of

taking all precautions, there is a possi-

Lility of fluid leakage from the valve.

gland. A bellows seal valve remedies

this problem.

26- Which of the following suggestions is the most suitable title for this passage?
1) How to minimise valve leakage
2) Safer technology for a bétter environment
3) Toxic pollution in the chemical process industries
4) The importance of fluid leakage in chemical process
27- Fluid leakage in chemical processes can lead to which of the followings:

1) reduction in pollution 2) refrain from material waste

3) increase in production costs 4) decrease in energy consumption
28- Which of the following suggestions can reduce leakage of the valves:

1) the use of bellow seal valve 2) choice of valves

3) installation of the valve 4) prevention of valve maintenance
29- In the last sentence “remedies” means:

1) relieves 2) activates 3) aggrevates 4) intensifies

Part D: Fill in the blank by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on you answer sheet.

30- There are two ways of -—--—- a signal: (a) pneumatically, using compressed air or liquid, or (b)
electrically, using electrical signals.
1) transferring 2) transporting 3) transmitting 4) transcending
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